Find the integral .[((24’:’]?) 2x(y’ = 2*)dx + 3x*y*dy —3x*z°dz . [98 E 4 YHE 1]

[#1H(4, 4, 0)&(2, 0, 1) X;Z: - Z_ll S X=2t42,y =4tz =—t+]

B <

dx = 2dt, dy = 4dt, dz = —dt
J-((:’:be(y?’ —2)dx + 3x*y*dy — 3x’z°dz
- j((:’:s) 22t +2)[(41) — (=t +1)°J(2dt) + 3(2t + 2)* (4t)2(4dt) — 3(2t + 2)* (=t + 1) (~dt)}
= [ {8t DI64E" — (—' + 37 = 3t+ D]+ TS (E +2t+ 1) +12[(t + (-t + )P}l
= [UI8(+1)(65" ~ 3t + 3t 1)+ (768t* +1536t" +768t%) +12(1 —*)?]dt
= jlo[(szot“ —496t° +16t —8) + (768t* +1536t° + 768t>) + (12t* — 24t> +12)]dt

= LO (1300t* +1040t° + 744t> + 16t + 4)dt = (260t° + 260t* + 248t> + 8t> + 4t)\l°
=260 260—248 —8 — 4 =780



